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7 i 306 i1BH BX 24.89
8 | 394 itk ExE 25.79




(2FEBF 400m)

R
B = K % FRE F L8R
1 1 302 i5H =N A= 2 56.62
2i 391 iEA K S 2 57.91
3i 309 KA BEHH ) 59.39
4: 306 iEE W— M K 2 59.79
5 301 =i wHE— 2 1.01.08
309 iKH-R W=z 2 DNS
304 ERRER %Hm 2 DNS
(1F£8F 400m)
RB
M = K % FRE F 08k
1 1¢ 367 A BER KA LHE 1 57.71
2i 362 RER 2 EEE 1 59.03
3i 367 MMEH BEA  iROsLE 1 59.15
4i 307 iHN fE BEO1 1.03.87
5{ 302 it = wAEZ 1 1.12.45
6 301 HRA KA WAE— 1 1.13.35
7 302 iKP RE WA= 1 1.14.12
(2FEB¥ 800m)
¥iE
= = K % FRE F SCEK a5 | &S K % FRE F 50 8%
11 1] 309l XE |# E 2[q| 20940 2| 304|EEKR BEA WA 2| q| 2.12.47
3| 302|NH MigE  [WAEZ= 2| q| 2.13.75 4] 303|FH #EXRES |[#A5= 2| ql| 2.13.84
5/ 306[#tH R} | AF 2| gl 2.16.51 6| 368|HE M&EIR [E 2 2.17.91
71 393|B% K |REWMm 2 2.22.09 8| 305 EEZ®Er W@ [ H 2 2.22.44
9| 364|&E K |HMARE 2 2.23.05 10| 305|==% E= OB 2 2.23.08
11 304|FHE BIX [®FEE 2 2.24.50 12| 364|/\fh £ WARE 2 2.26.34
13| 304|KkH &E [WFE 2 2.34.45
2| 1] 367\ E=E |[%ALE 2|q| 2.14.00 2| 301|#&ER PESE WMA— 2|ql| 217.77
3] 369|)II[EM 1 [ & 2|q]| 2.17.80 4] 393|7% e REMA 2 2.24.29
5| 303|#H K& |[WH= 2 2.24.67 6| 304|HA iR WA 2 2.33.14
7| 302|/MR RE WA= 2 2.39.96 8| 364|;kxH X WARE 2 2.45.50
9| 363|FIH BE |WEMm 2 2.50.13 10| 305|fRH Y& OB 2 2.50.46
11 391[luA HE |8 £ 2 2.50.85 305 HigE | H 2 DNS
R B 2FBF800m
= | &5 K % PRE T S0k
1 367|BR =E |#%ALHE 2 2.11.40
2 309/l K& | E 2 2.11.99
3 304|BEA AR |[#5M 2 2.12.20
4 302|INHE Mg (A= 2 2.14.93
5 369|)IEM 1 | B 2 2.16.59
6 301|#aER e [MA— 2 2.16.75
7 306|FPHH FR [ B 2 2.17.83
8 303|5H KB [MA= 2 2.20.80




(1£8F% 800m)

%358
el = = K % FRE F S0 EK E | BES K % FREG F L8R
11 1| 302[m)Il & |#%AF= 1| q| 2.13.85 2| 393[ME FE |[REA 1 2.21.78
3| 368[dtEF P W 1| ql| 22542 4] 306|#ML K [ H 1 2.27.20
5| 364 WK |[MAEE 1| ql| 2.32.40 6| 309[/\Ak ERKE [ ZE 1 2.32.97
7| 304|EH #&% |HMAM 1 2.34.75 8| 302[;:ZM 5L18 WHEZ 1 2.38.61
9| 366/%/E IhK Z 1 2.48.34 10| 362|HEBE 2% FEE 1 2.58.16
366|EMH BED |12 1 DNS
2l 1] 391|I\;EAE - & 1 q| 2.23.76 2| 367[A®F &KX [AHLHE 1 2.26.03
3] 305(BHE ki |J® H  1|q| 2.29.55 4| 302|KF -KBEE |®MAHZ 1 2.32.68
51 307))I11R BBRHE |7 = 1 2.34.78 6| 366|5H FHih 12 1 2.36.13
7] 362|E#E £=H  |[HEE 1 2.40.66 8] 302| kR -8 WHEZ 1 2.42.28
9| 364|FER Hx |BMARE 1 2.51.24 10| 363[#)Il fEX IEETN 3.13.23
304[0f EX A 1 DNS
RB 1FEFEF800m
= = K % FRE F S0 8%
1| 302[m)Il B |WAZ 1 2.16.97
2| 393|M\E FR4E |[REAE 1 2.20.08
3] 391|IFEAE = & 1 2.25.59
4| 367|Hs X |%5LE 1 2.26.97
5/ 306|#L K | A 1 2.28.02
6| 305|BAE oE [[F H 1 2.30.78
7| 368[1tEFH BE A1 2.33.96
8] 364X A |[RAEE 1 2.40.15
(2F8F 3000m)
RES
| & = K % TG F ik | M| & | &S K % TG F S8R
11 1] 309(MA —%# | FE 2 934.89] 1| 2| 366|FF Ei 12 2| 110.22.85
3| 391|EH EE |8 2| 110.24.32 4] 305|0aF HBE | H 2| [1037.64
5| 309[fE K— |8 E 2| [10.44.83 6| 391|Aix & S 2| 110.58.52
7| 306|fREE 1TA |[#% A 2| ]10.59.75 8| 362|FiE JEK HEE 2| [11.02.72
9| 362|FiL EhE |FREE 2| [11.05.85 10| 362|fF KRE HEE 2| [11.1294
11| 368\  MEE. [E A 2| [11.13.77 12| 393|22 #HEE |REA 2| [11.2248
13| 309|RE BER W E 2| [11.22.95 14| 364|LF @AY |[KARE 2| [12.36.91
15| 391|%ZH BF & 2| [12.40.83 307|=H = BoE 2 DNS
393|FH E FE |REA 2 DNS 303|FRHE At WHE= 2 DNS
32 EE |FEFEE 2 DNS

10




(1£5F 3000m)

RES
el = = K % PR ¥ | 2 | H] &5 | &S K % FREG F Soi%
11 1] 362[/WIl gz |EHE 1| GR944.10] 1| 2| 3024 & WEZ 1 9.56.02
3| 364|F% T MM} [MAERE 1 10.25.14 4| 391|EH BX S 1 10.25.49
51 3018 AR |[WHE— 1 10.30.65 6| 394[IEH KB  |[s=EAmE 1 10.31.93
70 393|E)Il % |REA 1 10.32.18 8| 366|F]Il EfE 12 1 10.32.33
9| 364|8R BEE |WHEE 1 10.50.94 10| 301|f@:k Hb WhE— 1 10.54.96
11| 391|#il FIKRER |& £ 1 10.59.69 12| 364|/NE = WHERRE 1 11.05.91
13| 303|7RiE BE [WH= 1 11.06.01 14| 391|@ek 184 S = 1 11.07.31
15| 391|#EA LKER |& 1 11.07.32 16| 302|M\N 1B R WEZ 1 11.17.37
17| 393|E)lIl &£ |REWMm 1 11.18.71 18| 305|i\LFH %%k |JF H 1 11.19.65
19| 368|fFmE A [E A 1 11.21.04 20| 306[%% A W A 1 11.38.67
21| 3e2|HA F— |[HEE 1 11.49.12 22| 363|7EE =& EET 11.49.98
23| 364|FH [EEE |WARE 1 11.54.04 302|f@k HE WAEZ 1 DNS
366|FR BEEAN |12 1 DNS
(3FE8F 3000m) (A=-TYL-R)
R B
| & = K % FRE F ik | M| & | BES K % FRE F S0 8%
11 1] 362|BN X |HEE 3 936.60] 1| 2| 302’ZA MHFE WAEZ 3 9.43.08
8| 3| 366|FM —tb |2 3 9.51.90 4| 364|F)I| I WAHERE 3 9.58.52
5| 362|L B |[HEE 3 9.59.90 6| 364|EX%X &) WAERE 3| [10.00.21
7| 306|#F FKX [ A 3 10.12.72 8| 394|EH K =EAME 3 10.40.21
364K 03 [MARE 3 DNS
(2FEBF 110mH (0.914m) )
o=l = = K % FiRG F ik | M| & | ES K % PG F ok
1 11 391|AKTF B} & F 2 15711 2| 1] 362|BsKk E=t BEE 2 20.46
2| 394|=] T |=mAmE 2 20.12 2| 305|MA & = 20.97
3| 305\l EEKEB[®E H 2 20.44 367|hH R+ [HALE 2| |[DQ X1
B 367/l BE  |M5LE 2 DNS| & 363|H E Bt WER 2 DNS
1.5 393|117t KE |RE#AE 2 DNS| 0.1
m m
X1 N-FILEFTHLE
RES 2FB8F110mH (0.914m)
A | & | &S K % FiRG F Bk
1 | 391 | KT B3t & 2 15.75
2 394 | =R BE |=BAME 2 20.06
3 305 [t REAKER| 7 H 2 20.30
B | 4| 362 BAKKL | HEEE 2 20.48
28| 5 | 305 M 18 2 R 2 20.84
m

11




(1£8F 100mH (0.840m) )

iR
B | B |[&H=S| K % FRE FE| EE
1 306/ BN [ A 1] |GR13.88
2| 306|FEM MA | A 1 16.26
3| 393 [t HE |REAE 1 16.37
Bl 4] 391[HE K&A s E 1 17.64
0.3 5| 364|EH BH KARE 1 19.29
m 6| 363|Ai EBIFE wEMA 1 19.45
7] 364[EF RE KARE 1 19.73
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(2FEBEF 4x10 0mR)

1-| 1|
=i K % [FR% FH - & K % |[FRE FX -
393 [(FH &0 |REW 21 367 |t BEA  |[HRO5LE 201
1| 393 [[BH & REMm 2i2| 47.73 2 | 367 |k ®WEiE |[t%ho5LE 2:2| 4823
303 [T Mt |REWE 23 367 |fhH R+ |ALE 2i3
393 |1t K& |REW 24 367 |[TBEIlR =F |WALHE 2i4
309 | T B fOE 211 305 (#FH thEE | H  2i 1
3 | 309 |F& B4 M FE 2i2]| 4859 4 | 305 /NI E IIE OHE 2i2| 4941
309 (O XE |f8 E 2i3 305 (i BE& [ B 2i3
309 |MA —%E [f E 2:i4 305 EmE W | H 2:4
303 [FH Bt |WA= 2i1 306 [P R | A 201
5 | 303 [ L A= 2i2| 4996 6 | 306 [lLfp FN [ A 2i2| 51.21
303 |[EH HEm |WA= 2i3 306 |FA& #®— | H 23
303 |FH 1@1:&5 WHE= 2i4 306 |HE B VAR
302 (B8 —& |[MAZ 2
302 [ Ki A |(WBFZ 2 DNS
302 |BE HE |WAZ 2
302 |NH fisE (W5 = 2
391 =& KB |8 211 302 |HJIl X WAEZ 2i1
1|391 [BE #IK |&F 2i2| 4633 2 | 302 [5H =N WA 2i2| 4845
391 | B I S rE 2:3 302 B2 —8& WA= 2i3
391 | KT B |8 & 2i 4 302 |Bt B& WAEZ 24
394 (=R HEF |ZEANE 2} 1 307 |HIR #E BoE 201
3 | 394 [JIIB —% |®EA0E 22| 49.23 4 | 307 |FEE HX = 2i2| 5021
394 |A —B |=sAmE 203 307 (Al &N BoE 23
394 |[5H EBK |mEkxmE 24 307 |14 REEE | = 2:i4
305 |tk BEF B OH 21 362 B Bk HEE 201
5 | 305 |RBF #BFE |} H 2i2| 5139 6 | 362 |BY] 1B HEE 22| 5372
305 [fEH MR | B 2i3 362 (LA B4 BEEE 2:3
305 |53tH MARERE H 2i4 362 |FTK T/ REE 24
366 |oE B} |2 21
366 |ILEF Kk |B2 2:2| DQ3-4
366 |EN BO B2 2i3
366 |AF ER[12 2i4
R B 2FEBF4x100mR
NO s Y NO &= by
= |-+ K% PRE FEo-| Rk & |-t K4 PRE | B8
391 [F& A |8 2 (1) 367 |#HE BEAN  |[HO5LE 2 (1)
1 | 391 ZE AKX & F 2 2| GR 2 | 367 (L@ ®iE [#AWLA 2 ()
391 | B i S rE 2 (3)| 46.16 367 | R+L WAILE 2 (3)| 47.96
391 [ KT BBk |8 2 (4) 367 |TBER =E WAHILA 2 @)
302 (I R (WA 2 (1) 309 | B# wMOE 20
3 1302 |[5H =N |[WAEZ 202 4 | 309 |F% H B E 2@0
302 (B2 —8& |5 2 (3)| 4836 309 (LA XE W OE 2 (3)| 48.71
302 | BE (WA Z 2 @) 309 |E4 —FE WOE 2@
393 '®H &0 |[RET 2 (1) 305 (¥FHH tHEE | H 2 (1)
5 | 393 ,;éEE P REAFA 2 () 6 | 305 [VJII HE [ H 2@
393 |EF Mt (REWA 2 (3) 49.07 305 (i BAH |E H 2 (3)| 49.27
393 [Tt K& |REWE 2 @) 305 (B8 W | H 2@
394 |Z(} T |mmAm2 2 (1) 303 |FH Ets WA= 2 ()
7 | 394 |JIIEB —% [|[s=BAmE 2 (2) 8 | 303 1B /L WA= 2@
394 |5 —HE |mmAmE 2 (3)| 49.57 303 [EH HME WA= 2 @3)| 5068
394 |5H K |EEA0E 2 (4) 303 |&HH KRB |[WAE= 2@
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(1FEBEF 4x10 0mR)

1-| 1|
=i K % [FR% FH - K % |[FRE FX -
364 iR —E |WARE 11 393 [MA #Z |REA 11
1 | 364 |iBH B%H |HWARE 1i2| 49.51 393 (B ®F  |REA 12| 5007
364 |BEH EH WAERE 13 393 |~ #pEE REMm 1:i3
364 |HE FK |[HMAEEE 114 393 [B7)Il BeKk |REA 1i4
305 (Ml EE | OHE 11 391 (HE &A S = 11
3 | 305 |0 N | H 1:i2]| 5072 391 [kFH 45k S 12| 51.01
305 [T fBA | B 1i3 391 (kb HIE S 1:3
305 [#EAR 2 OHE 14 391 |FR BRER |& 1: 4
304 (&% B |[MOAT™ 1i 1 366 (R K2 Z 11
5 | 304 |BR 15 WA 1i2| 51.28 366 |F7x #E Z 1:2| 5242
304 |F%ZH == [MAT 1:3 366 |[SH Hi Z 13
304 |pkH BfE  [WMATE 1i4 366 [%R IHhK 2 1i 4
362 [Pk BB |HBE 11 302 [EH 5L#E WAEZ 11
7 | 362 |1 EEE 1:2]| 5276 302 (M)l B4 WA= 1.2 5561
362 [Nl BERN|EEE 1:3 302 |3k FEKER (AT 1:i3
362 |Ei FAER |[HEEE 1:4 302 [N BR WHE— 1:4
362 |@mEB 2 HEE 1i1 302 |FRE B WMAEZ 11
1| 362 Bk R} |HBEE 1:2| 4833 302 |H)H EEER WA= 12| 50.11
362 |BA Bk |REE 13 302 |[YEST EBRK MAZ 1i3
362 B BRE¥E  |[HEE 14 302 [k KE WHEZ 1.4
306 |l E w A 11 367 |MH B |MALE 1i1
3 (306 | #®N %% H 1:2| 5096 367 | AN BER |[%ALE 1:2] 51.60
306 [fafE IhéE | A 1i3 367 |L)@ Bt |#5LE 13
306 B/ K W A 1i4 367 [T BA{E |®ALE 1i 4
364 [ixA& RE  |[MAEE 111 307 (HE AN b= 11
5| 364 |=H B |KARE 1i2| 5267 307 |F)I 988 = 1i2| 53.83
364 [(EE E |KMAEE 1:i3 307 [JIIAR B B = 13
364 |V B |[BMARE 1:4 307 |&H EA B = 14
363 IJJ5/J\\ %Uz'z *Fﬁ%ﬁ 1 1 368 T’IW ;I'\'\.ﬂq 5% ﬁ 1 1
7 | 363 [BB  K¥  |WEFR 12| 5474 368 |1#&1A B [ A 1:2]| 55.26
363 |EHE &  |fEAR O1:3 368 |EFh ZAN[EAE 1:3
363 [Rfn EX WER 1:4 368 [dLEF R B 114
RES 15EBFA4x100mR
N O &5 Y N O &= by
= [p-r K% g Eo-| 2H p-F K4 P & B
362 TR | BHEE 1 364 | R —E |[MARE 1 (1)
1| 362 | X B} | FZEE 1 364 | BH BEF |MARE 1)
362 | BA BE | EEE 1 48.53 364 BH Eh (WARE 1 (3)| 49.70
362 | B B | FEE 1 364 | BE BXK |[MAEE 1 @)
302 | HER B | MOAZT 1 391 HEe KA S 1M
3 302 | 4 BERR | AT 1 391 XHF S S 1@
302 | YEST BRR | AT 1 49.96 391 | BAR B4 S 13| 5020
302 | Bk KE | WA 1 391 | KR BKEE | & 1@
303 | @A £Z | REA 1 305 | ML EBE |E OH 10
51393 | & #i&F | REA 1 305 | 0 N | H 1@
303 | fE HE | REA 1 50.32 305 | " BA |E H 13)| 51.08
393 | Il K | REA 1 305 WA B EOHE 14
306 | Al E w oA 1 304 | ZF m | HEm™ o1 ()
7 1306 R BN HK AH 304 Ey NI WAEME 1 @2)
306 | MARE ThiE | MR OA 1 51.29 304 | ZHE == | W 1 (3)| 5134
306 | B M | A1 304 | FXH BE | WM 1 @)
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(2FEBF ESH)

g &= K% % F SOEK B i &FH=S K% R& F FC 8K
10 302iK#H &N wEZ 2 1m74 2: 391iLA KH S 2 1m60
3; 366it fAFE 1 2 1m50 362:1LH BRE BEE 2 NM

306 K% RAR W AH 2 NM
(1FEBF EFSH)

IE F= K% R& F FOEX g (E= K% R& = F0EK
1. 364iFEdt Et WERE 1 1m45 i 393ifAR HZE REA 1 1m45
3] 393iFRE =KX REMm 1 1m40 4 363iEM FK MEMR 1 1m40
5: 393i#k BB REA 1 1m30 6 391/RMA &t S 1 1m25

(2FEBF EIEHE)
RS

B &= K% R& F Sk Bl & FH= K% R& F FCEK JB
1 391:AF ;K S 2 5m70 +1.8 2i 368im7l/ll E&E i) 2 5m49 +1.0
37 393iFEM &1L REWm 2 5m27 +0.4 4;  307:@)Il EN BE 2 4m89 +0.5
5/ 3685AHF —E E A 2i 4m34+34 3931l = REMA 2 DNS

306:F F B W A 2 DNS
(1FEBF FEREB)
R

] = K% K& |F| EEkE & | S K% R& | EixE
1| 391|FKR BKRER |[& £ 1 5m45 -0.2 2|  302|7h)H BERR wMAEZ |1 5m33 +1.1
3| 362k BEX BHEE |1 5m09 +1.3 4| 362|HI FHAKER BHEE |1 5m06 +0.9
5] 393|fk BE  |REA |1 4m97 +1.1 6| 305/fhO =N 2 OH |1 4m85 -1.2
7| 363|EMA #H} WER |1 4m76 +0.2 8| 367|lLM Et WA ILHE| 1 4m73 -0.1
9| 364|/\Hx HhiE WERE| 1 4m62 -1.0 10| 364|iEZR —E WERE| 1 4m61 -0.4
11| 363[E8 X WER |1 4m57 -0.5 12| 367|E %H ®WAILE| 1 4m?29 -0.4
13| 393[)IIF #L5F EEM |1 4m16 -0.6 14| 3678 =& WA ILHE| 1 4m15 -0.3
15| 307|fE& 1B o= (1 3m98 -0.4 16| 393|/NE BLIE REA |1 3m85 -0.8
17| 307|f#E#T BE [+ = |1 3m69 -0.3 18| 393|AK BN REMA |1 3m56 -0.3
19|  302[d7%& BRiE MAEZ |1 3m43+0.1

(2FEB¥* fahi® 5. 00 O0kg)
R

B : FHS i K % wrE F EEs g : FS i K £ RE % L8R
11 309i T B# W OE 2 13m46 20 367itHE BEA ®WALE 2 10m43
3i 309iK L fREA WoE 2 10m27 4; 309iHEF EAEB o OE 2 9m33
5 391iE#h RE S 2 7m26

(1EBF fatik 4. 00 0kg)
R

JIE 5 K % w&E F 5CE% g i &S i K % K& F FLER
11 367ifTN #BfF  (MJ5LlE 1 9m39 20 364iHER EN WAERE 1 8m46
3 391ilBA KA S 1 7m94 4; 394iME FHIE HEAME 1 5m95
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(2%F%F 100m)

%358
el = = K % FRE F ik | M| & | &S K % FRE F L8R
11 1| 3640 2 WERE 2|q 1332 2| 1] 391|A% 7R S 2 13.91
2| 302|FR ¥ WHEZ 2|q 14.50 2| 301|uh GEE WhH— 2 13.95
3] 307[BHE = B = 2 14.91 3| 305[lbZA& A0 2 OE 2 14.86
m| 4| 393[=% TEF |REWM 2 15.01] &| 4| 367/ I  |KAHLE 2 15.09
06| 5| 367|%# EE |%KELE 2 1562 0| 5| 368/BJI EH [EF W 2 15.70
m| 6| 368|IA FEH |EMm 2 16.31] m 3032 BE |[HMAH= 2 DNS
303|EH #0Y |WA= 2 DNS
3| 1| 304[dbAT FEE O|IMAM 2|q 1352 4| 1| 393|giE &% |REA 2 13.51
2| 366|BE HMNMA [F 2| q 13.79 2| 367[dbf% = #WAWLA 2 14.44
3| 36[BEl KFIy |FEE 2 14.70 3| 304Kk BEEF (KA 2 14.77
m| 4] 394[MA& FTy  |mmk0E 2 15.29] & 4| 303[AI4t BAER |MAE= 2 15.63
12| 5] 391|5#% B |& 2 1541] 06| 5| 362|F1E (330 [FEE 2 17.05
m| 6| 367|/BEF & |HAHLE 2 15.45] m 364[/NE EF] WHERE 2 DNS
RES 2FLZF100m
A|&E|&5 K % FRE F 50 8%
1| 364/, 22 WAEER 2 13.10
2| 304|dbA FEEE O |MAm™ 2 13.24
3] 393|giH &% |REME 2 13.28
B| 4] 366|AE MhA |E 2 13.59
15| 5] 391|A&% &3 |8 F 2 13.74
m|{ 6] 301|lus BE |HH— 2 13.88
70 302|FER ¥ A= 2 14.29
367|db4% WAILE 2 DNS
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(1FE%F% 100m)

¥iE
el = = K % R4 F ik | M| & | &S K % FREG F Soi%
11 1] 366[lhA& E |2 1] q 1421 2| 1| 306|MAN X [ A 1 14.68
2| 303[lLbA #& WHE= 1|q 14.34 2| 363|=ER F1 b WEER 1 14.73
3] 305\ R OKE O[E H 1|q 14.47 3 307k FiIEA B oE 1 14.76
m| 4| 364lEEE HXk |[RAREE 1 15301 m| 4| 305|RAE AU-HEE[E H 1 14.91
04| 5| 309|@EA X | E 1 15.38| 0.1 5| 366|MHt Z=E: 12 1 15.11
m| 6| 307|%H #M |& = 1 15.48] m 3043k R it [l 1 DNS
7] 394|EARK ¥IE |EEA0E 1 15.74 362|HE Fon  |FEFEE 1 DNS
I PN S - 13.50] 4| 1| 391|FHF0O &#/&E S 1 14.28
2| 393|HAT FEF |REA 1]|q 14.06 2| 302mR E£E& WEZ 1 14.50
3| 364\t Xk [MARE 1|q 14.62 3| 309|FEE =HEE | E 1 14.72
ml 4| 362|MK RxE |HEE 1 1471 @| 4| 363|FMR &= EET 15.36
07 5| 305/ ¥B [ H 1 1494 02| 5| 305/xbL FEF [[FE H 1 15.75
m| 6] 307/ E& [ = 1 1540 m| 6| 306|Hs FEKF | H 1 16.06
304|871 =B [WMFM™ 1 DNS
5[ 1 362[kit HEE |HEFEE 1 15.16] 6
2| 303[MF FiE |[AE= 1 15.22
3| 394/t BBEE [EEA0E 1 15.33
[l 4| 364|FH W |WAEE 1 15.66
07| 5| 306| KX BAMTIE(W A 1 15.72
m 307|BHE BX [ B 1 DNS
RES 1FELZF100m
B | & | &= K % FRE F Bk
11 302101 R¥& (A= 1 12.98
2| 393|hA FEF |REW 1 13.77
3| 366|lLA EH |2 1 13.87
Bl 4] 39FA EE O[S E 1 13.99
24| 5| 305|%E M&E | H 1 14.12
m|{ 6] 303|LA& #@ WE= 1 14.19
70 302[ZR =& WA= 1 14.20
8| 364|M\F =Rk WERE 1 14.20
Ly (3FKF 100m) (A-TYL-2R)
A | & | &S K % FiRG F Bk
11 1] 364[lhA BHRE |KARE 3 12.64
2| 306|EEH =# | A 3 12.69
3| 363[mN)ll BIE |WmEMA 3 13.23
Bl 4| 306/F5A8 E | A 3 13.53
04| 5| 363|7%it FHE |WERA 3 15.13
m 364|FFE KREXE [MAERE 3 DNS
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(2%F%F 200m)

18

%358
Hl A | ES K % FRE F ik | M| & | &S K % FRE F L8R
11 1| 305[AEa EHEE!E H 2|q 2791 2| 1| 364|¥MR Lt WAEEERE 2|q 27.77
2| 391|&FM A% |8k 2| q 28.35 2| 304|FB =4 WA 2|q 28.60
3] 362|fFEE 0T |EEBEE 2|q 28.57 3| 391[MVE B & F 2| q 28.82
B| 4] 367|=)ll FfE [#ALHE 2 2948| B| 4| 39%4|3UVvZFT4V[EEA0E 2|q 29.21
2| 5| 39%|EH OFE |[FEANE 2 32.30] 1.8 5| 362[RAE EHE HEE 2|q 29.25
m| 6] 307|X%@ £ B = 2 3290 m| 6] 306|FEE W A 2 30.16
362|F/mA B BFEE 2 DNS 70 367|BM A [#ALHA 2 30.30
RES 2FLF200m
A|&E|&5 K % FRE F S0 8%
11 305|A& EXEE[E B 2 27.84
2| 364|MVR £rix  |KRARE 2 28.40
3| 391|FR ¥ |8 FE 2 28.58
Bl 4] 362|FE 0F |HEFE 2 28.98
0.8 5| 391|¥E HYT & F 2 29.25
m| 6| 362|A8 E&E |HFE 2 29.61
7| 304|%Mp =4 %AW 2 29.76
8| 394|37yvZFTaV |mBEAME 2 30.03
(1F%F 200m)
T
| & = K % PG F ik || & [ ES K % PG S0
1 1] 391[lLiR % |& 1] q 2801 2| 1] 363|EmEH# HE MWEM 1|9 28.74
2| 306|kkH ¥x % A 1]|q 28.29 2| 366|%H UbH 12 1| q 29.17
3| 302(HE HmER WA= 1|q 28.67 3| 307|hAk HERY = 33.63
Bl 4] 307/HR $HE [ = 1]|q 30.87] & 391|HAN FE S 1 DNS
36/ 5| 307|Z)IM-X |f = 1]q 32.64| 1.2 391|3RA HE S 1 DNS
m m
RES 1ELZF200m
A | & | &5 K % FREG F 0%
1 3911LiR #%  [& £ 1 28.06
2| 306[LkH kX | H 1 28.34
3] 363[F%H MR |[MEMm 1 28.73
Bl 4] 302|KE FHXRx [WMHZ 1 28.92
17| 5| 366|%H UH 2 1 29.31
m| 6] 307|HR %% [ & 1 31.46
70 307[Z2)L1-X | B 1 33.67
8| 307[lhA FEH |7 = 1 34.12




(3FEL&F 200m) (A=-TYL=-R)
RES
B | & = K % R4 F S0 EK
11 1] 306[FA =& |% A 3 26.08
2| 364[lLAR HE  |[MARE 3 26.13
3| 306|FR #WHE | A 3 27.56
B| 4| 364|F%E XEX [MARE 3 28.15
2.0 306|HF EMITFI|M A 3 DNS
m
(2FE%F 800m)
RES
| & = K % PG F Bk = | &= K % PR F S0 8%
11 1| 304[9ZF Rk | 2 2.28.44 2| 364|FH Wi WHEERE 2 2.29.11
3| 364|EEK BlE |[RMARE 2 2.29.17 4| 364|aTH ==E WHEEE 2 2.31.06
5| 391|%H BX |8 2 2.31.21 6| 391|FE B% S E 2 2.32.64
70 391 xR | £ 2 2.34.18 8| 393|RE #%%&E |[REMA 2 2.37.73
9| 362|EiF A BEEE 2 2.39.67 10| 306|3kEF =8 WA 2 24244
11 362|HAN VWY |[FEEFEE 2 24258 12| 362|MBR S5O BEE 2 2.43.27
13| 304|EH 7B [WFM™ 2 2.43.58 14| 366|FE)Il = Z 2 2.44.94
15| 393|&F ME [REMA 2 2.46.19 366/ A BHE Z 2 DNS
(1F%¥% 800m)
¥iE
o=l = = K % FiRG F ik | M| B | ES K % PG F ok
11 1 391[kO B S 11q| 2.36.06 2| 391[MK BB S 1q| 2.37.33
3] 369K BE | E 1|q| 23881 4| 363|FA]JIl #AIR WEME 1|q| 2.39.48
5| 368|F# Hh |7E B 1|q| 24347 6| 363|FE Bk WEM 1|q| 2.45.56
7| 305|MA Fk [FE OH 1 2.47.21 8| 303|#13E M5 WA= 1 2.48.75
9| 364|Ek)Il E=FT |WARE 1 24993 10| 393|ILF #85 |REMm 1 2.53.05
11 362|/\fa EX  |[FEEFEE 1 2.58.44
2| 1] 369|EL EBE [ E 1|ql 23181 2| 307|mH EfE m = 1[q| 2.35.89
3| 363|X¥F 5  |fHEM 1 2.47.10 4] 391/4)1 BE S 1 2.50.26
51 391[A& X& |8 F 1 2.51.04 6| 363|;ttH #EHF WEMR 1 2.57.58
7| 305|%;t HmE [F H 1 3.24.31 8| 366|/®E HEHR [ 1 3.25.46
30481 BX AN 1 DNS 364| 1L FK WHERE 1 DNS
RES 1FEZF800m
= | &5 K % FiRG F Bk
1369 | Elh R | &% B 1 2.32.69
2 307 | mHF B | P = 1 2.35.16
3| 391 &0 B S 21 2.39.22
4| 391 WA B3 S 21 2.40.13
5369 | #K B | & B 1 2.42.11
6| 363 | AIJIl BFIR | WER 1 2.45.36
7] 368 | E¥ HHR| E A 1 2.46.55
8| 363 | L Bk | HEM 1 2.49.70
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(3%F%¥F 3000m)

(A-TIL-2)

20

RS
HO|E = K % FRE F Zix |¥H |B |ES K % PG F L8R
1M 1] 362|/vx = |[FHFRE 3] [11.1096] 1| 2| 363[MA& X#H WEMm 3| [11.50.06
3] 306|AF EMFI|HR A 3] [12.23.19 3645k H BT WAEEE 3 DNS
(2FE&ZF 100mJH (0.762m) )
RES
A | & | &S K % FiRG F Bk
1 306|FA 1B [ A/ 2 15.66
2| 309|HE FHR | FE 2 15.88
3| 301|ZH ¥7h  |WAH— 2 16.00
Bl 4] 367|MM WE |%H5LHE 2 16.03
01 5| 39118 =¥ |8 2 16.53
m| 6] 394|k HE |FEx0E 2 18.58
7| 362lEEE {tE  |HEE 2 20.30
8| 363|w0 Fex |WEA 2 26.23
(1FE%F 80mH (0.762m) )
%3358
el = = K % FRE F ik || & | ES K % FRE F L8R
11 1| 306[FEE BE | A 1|q 1449 2| 1| 366|MEF 2= 2 1 q 13.05
2| 306|EH EE | A 1|q 14.53 2| 306|F E=XEF (M A 1]q 13.55
3| 367/ =t |%5LHE 1]q 14.88 3 367[4H M@ [RALHE 1]q 14.01
Bl 4] 363|hA 0B |WERE 1|9 1521 & 4| 391|5H #E S = 1] q 14.31
19 5| 307|E)l EE [ = 1 15.81] 1.8 307|=42  BEAD = DNS
m m
SRS 15ELZF80mH (0.762m)
A|&E|&5 K % FRE F 50 8%
1| 366|FE 2 12 1 13.03
ARE S S 13.35
3| 3670FH BE| [#%o5LHA 1 14.15
Bl 4] 39NSH EE & F 1 14.17
23| 5| 306|EH EE |#% A 1 14.30
m| 6| 367|/IM& =& |[®AFLE 1 14.50
7| 306|FEE BE | A 1 14.71
8| 363|HA OB |HEEM 1 14.88




(2F%ZF 4x10 0mR)

¥iE
- 1|
ozl I K % PG FY - K % |[FRE FX -
391 |BM #% (& F 21 367 [BRE R |[KRALE 21
1 | 391 |A% TE*‘J S 2i2| 5298 367 (=)l kg |WALE 2i2| 54.85
391 |BH =4 |8 2i3 367 |dbfX = WAHLA 2i3
391 [V Hvh |8 2i4 367 |MME YE |WALHE 2i4
306 (=2 EfE | A 211 362 |E3H ﬂ’éﬁ BEE 301
3 |306 |FH /NMNE % A 2i2| 5490 362 |BABE =& HEE 2:2| 56.25
1 306 | P& &EX |t A 23 362 |fREE OF HEE 23
306 |RE #& W H 24 362 Bl KFITy |HEER 2i4
393 |1lRE #Hh& |REW® 21 394 |k MhE EEAME 2! 1
¥l 5| 393 |gH &% |REA 2 2| 56.98 394 |5U9v=FT1V|=EAmE 2: 2| 57.39
393 |tEBk B |[REWm 23 394 (IR0 EefE EEAME 2: 3
393 | TFA KERIREFE 24 394 [MaA FTy  |EEAME 2i4
304 |BERN EEEF WA 2: 1 364 |MEH BX |MARE 2i1
1 | 304 [db#t HFE [WMOF™ 2i2| 53.96 364 |[MVR tﬁﬂaé WHERE 2i2| 54.59
304 | =4 WAEmM  2i3 364 |BJIl & WHEE 2:3
304 |E MRk [MO5PH 2i4 364 [/ & WHERE 24
366 |FHH =85 B2 21 391 |Ei& HME S = 21
3 | 366 |[BR W=E Z 2i2| 55.83 391 |fFRE 1B S 2:2| 56.79
2 366 |KJII FIF |#2 2i3 391 |finik R S E 2i3
366 |BHLE AhA |52 2i4 391 |#H E=E S 2i 4
302 |fFRE MIESR (A= 2
bzl 302 |2 & WA= 2 DNS
302 | KA KE  (MAZ 2
302 [BER &y (A= 2
RES 2H8HXFA4x100mR
N O s Y NO &= by
= |-+ K4 PRE FEo-| Rk p-F K4 PRE | B8
391 | BR OA¥ | S 2(0) 304 | BE R EETF | AT 2 (1)
11391 | A2 £ | &£ 2© 304 | dEN ERE | WA 2 ()
391 | BE =4 | &£ 2 @3)| 5351 304 | B =4 | A 2 (3)| 53.96
301 | M HVTh | & £ 2 4 304 | ®HE MA | W 2 @)
362 HFRE O|HEBE 20 367 | B fAIk |#o5WE 2 (1)
3 (1362 | A :I:/‘J‘\ BHEE 2 () 367 | =)l FiE |#AWLE 2 )
362 | fREE O0F | EEE 2 (3)| 54.69 367 b ZE& [®AFLE 2 3)| 55.06
362 | Eil E%ﬁ)& FEE 2 @) 367 | MME Y |#5LHE 2 4)
364 | MMEH BX [MARE 2 (1) 366 | ATH £ 2 20
5 | 364 | MR tﬁﬂaé MARE 2 (2) 366 | R WE Z 2 ()
364 Blll &8 |®ARE 2 B3)| 55.13 366 KI FIF Z 2 (3)| 55.92
364 Wi B |IRARE 2 () 366 | B.E MA Z 2 (4)
391 | Fi& HiA S 20 306 | = OEBfE | M A 20
7 391 | FEEEE | & F 22 306 | FH ME | A 2Q
301 | il BER | & £ 2 (3)| 57.29 306 | TR EXE | A 2 (3)| DQ2-3
391 | #H BEX | & £ 2 @ 306 FE & [ BF 2@
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(1FELXF 4x10 0mR)

¥
- 1|
] & K % |¥RE - K & |FRE 4 -
366 LA = (2 11 306 (HE BE | A 1i1
1 | 366 |4 YH 12 12| 53.62 306 |BR =% | A 12| 5453
366 |[@EF & Z 1:3 306 |2 OB || A 1i3
366 [Nl &5 Z 11 4 306 [LhH ¥%& [ A 114
391 |5 X |8 151 363 |FIR &=tk MR 111
3| 391 |[WLAR ®1% | £2 1:2| 55.58 363 |=/R FITh R 12| 56.62
1 391 |FO &Fm |8 1:3 363 | HE WM 13
391 Bl B2 |8 1: 4 363 (A OB |EER 1:4
369 | FO Hi4 ¥ E 11 303 |=H tf REA 1.1
5369 |ELER |E 1:2| 5685 393 (lLF #EA  |REA 1:2| 57.66
369 |IRAE FZ= (&K B 1i3 393 (Bl #®Ex |REA 1i3
369 [ B [ E 14 393 [ E¥ | REA 1i4
307 |2 MM [ B 11 303 [HERT BkTE A= 11
7 (307 |[fFEE E&H | = 1.2| 57.72 303 (lbA&  #E WA= 1:2]1.00.17
307 |mHF# BfE |7 = 1:3 303 |FriE WEXE  |[HMA= 13
307 |&42 Al |h = 14 303 [ F FE |[AB= 1i4
302 [ 36 (WA 11 305 |BAA B 2R 11
1| 302 [[BR =% |WAZ 1i2| 5443 305 IR Of&E | H 1:2| 56.82
302 | Bk |[WAZ 1i3 305 (A0 ¥R 2 OAE 13
302 /M REE [MAZ 114 305 |RR AU-HHEEE H 1.4
366 (L 1BF |12 11 391 |&fE BAE S 11
3 | 366 |HHF EBE |2 12| 57.98 391 (kO P S 1:2| 58.50
2 366 |EA TE |12 1:3 391 |FE) $53% S E 13
366 |ME K2 |2 1: 4 391 ()l B S 1i 4
306 [KER MRFOTE|R A 111 364 |BE)Il =FF |MARE 1.1
| 5 |306 |LH ExE | A 1i2]| 5878 364 |fkEE FHok MAEERE 1i2| 59.60
306 [HH FEHF|W A 1i3 364 |EH BE KAEEE 1i3
306 [T HEHE [ A 1:i4 364 |MARF SERE WAEERE 14
307 |[HIR #3% | = 1
307 |2 A=K B 1 DNS
307 |B)Il =B | = 1
307 VB AR | = 1
RES 1FXF4x100mR
N O &5 Y N O &= by
= [p-r K% g Eo-| 2H p-F K4 P & B
366 | LA EH 2 10 306 | HE BE [/ A 1)
1| 366 | %H Y 2 10 306 ENE IR A 1@
366 ME = ¥ 1 @3)| 53.38 306 | BRI OF |/ A 1@3)| 5417
366 | /NI &5 2 1@ 306 | HH ¥k [ A 1@
302 | & HBE | A 1 () 391 SH EX S 1@
3 1302 BE EFE | HAZ 10 391 AR &0 S 1@
302 | BE BX | AT 1 (3)| 54.66 391 0O && S 13| 5470
302 | /NI K& | MAEZ 1 @) 391 Kl BEE I 1@
363 | MR =K | FEA 1 (1) 305 | BB HX | H 1()
51363 | BR F1/5 | WEA 1) 305 | IR OMKE [ OH 1)
363 | it BE | WEM 1 (3)| 57.03 305 | @0 ¥ER |E H 1 (3)| 57.05
363 | B ONB | FEERE 1 (4) 305 |AR AU-THE| 2 H 1 @)
369 | FO B4 | & E 1 (1) 393 | =M Ot | BE®A 1 (1)
7 1369 | BELER | E 10 303 | W EEA | REAE 1)
369 | IR HZE | % £ 1 (3)| 57.10 393 | BBl #®E | REA 1 (3)| 57.52
369 | = B | K E 1@ 303 | N EF [ REM 1@
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(2F%&F ESB)
RS
IE = K% IR e 0% JE = K% R& F FC 8K
1. 393ifkEk Bk REMm 2 1m47 21 301iKER BEF whHE— 2 1m40
3] 36IITE BHR HEE 2 1m30 4; 303iBH OUARL WH= 2 1m30
5: 369ikH WWE itk & 2 1m30 6 366:HFR B 2 2 1m25
70 3075BK A& BE 2 1m20 7 364IMNEH B WAERE 2 1m20
391iBE HF S 2 NM 302i1REE MER WHEZ 2 DNS
(1F%&F EFSH)
R
IE = K% R& F FOEX g E= K% R& = F0EK
1. 393i&lL #®E  REWE 1 1m45 2i 366iEA T& 1z 1 1m40
3] 369 BB Mk 1 1m30 4; 366iMIE KE 12 1 1m30
5. 391i%fE BE S 1 1m25 6; 303ifAA BXFE wAE= 1 1m25
7i  369itE ¥ ¥ K 1 1m15 8 369iXMH ZE ¥ B 1 1m15
9! 369iEM HXR %k 1 1m10
(2F4&F FEMEB)
RS
& &= K% R& F ok Bl E: FH= K% R#& F FCEK JB
1. 305 BwBA& 2 H 2 4m83 +2.9 2i 306ifx 2ix WA 2 4m67 +0.9
3i 303i@M{ FA MAE= 2 4m61 +0.7 4; 366:iK)Il FF 12 2 4m55 +1.3
5: 393iTH &F REMA 2 4m48 -1.3 6 364iA]JIl E WHRERE 2 4m35 +13
7). 309i5H BE OoE 2 4m31 +2.9 8 302i/\i2 E wWE=Z 2 4m17 +1.1
9! 369i%H EEHF i K 2 3m78 -0.7 10; 39%4iEMA MHBE HEANE 2 3m46 -0.8
363:FE/N\E B ifEERE 2 NM 302 KA IEE wAEZ 2 DNS
(1F%&¥F FEMREB)
R
B F= K% R4 = SOk Bl & FH= K% K& = 0%
1 366/l &5 Z 1 Am72 +2.4 2 306i1EfE OLF w F 1 4m59 +2.5
31 363HFJI EE MEMR 1 4m42 +0.9 4i 363igiH FE MEMR 1 4m29 -2.4
5, 307{FEE EE moE 1 4m28 +1.9 6 305iA® HAX b= = 4m24 -1.9
7i 391kl EE = 1 4m23 +1.0 8 369 O M4 R 1 4m06 +1.1
9: 303:iERT HTE IWHFZ= 1 3m71 +0.3 10 391131 %% S 1 3m65 +1.5
1M 303ilurfh Bk WA= 1 3m62 +1.3 12;  369ilRIR HZ ¥ B 1 3m47 +1.3
13{ 369 LA —-F y 1 3m27 +2.1 14; 369ikEE B % B 1 3m22 +2.3
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(2FE&F maik 2.721kg)
RS
M| L = K % R% FE EEk L &S K % K% FE: %
1 363 (&K Bk HEM 2 10m18 2i 309 HMEEF EHE W OE 2 9m39
3i 366 iffH X 2 2 9m00 4; 368 EEM BEE Bl 2 8m93
5: 301 {HH BER HMAH— 2 8m59 6: 306 (THF HX M B 2 8m46
7 391 (HEG HrmA S r 2 7m51 8i 367 iF/K FTFE WALE 2 7m20
9! 391 {HA EA S r 2 6m99 10 301 imFH BKiR wmAE— 2 6m64
394 RO IefE  EEANE 2 DNS
(1FELxF mEhig 2.721kg)
R
g i &S i K % RE F EEa g i &S i K % RE F L8R
11 302iF8R H3E mAEZ 1 9m95 2i 306iHE @®E wm A1 9Im72
3i  368iLRE EX B A 1 8m06 4; 366i%EIL {EF 12 1 7m74
5i 363iFHH B WER 1 6m79 6: 309ifF Imds HOoE 1 6m78
7: 306if@L YE M A1 6m56
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